WEFAES: 300011 WERTRIFR: S A NS 2025-41

RN EAR KRB FRAF
KT ARASXREKAEEMFHENRNRHABEE
ZHFEAEXKZ SIS

ANEREEFRLERKRRILELKEALWASE, ERMTE, BHER
TR, RPERAIE AR

TR M EARER M AR AT (BURFERR “AF” D T 2025 4 08 H 07
HEJ 7S mERSENRSWEE - n S IR, 5 i0Ee 75T
PARE LN w] 2024 AFJE M REE N RRAT A RS REAHGWR . AF 5 T
WAREHARAR (LUREIRR “ TEEA” ) 287 bl M ARER A
B 2 7] b5 M T A AR A R ) O T ) A 2 0 R R AT S 1 B 2% A A R
AR DA 5 [ 2 D 78 B3O AR TR C B 2 A A2 38 A A 4 [ 2 AR SR B 3O)D
UM A% B A AT I SR 2 N AN RIS 46,905,000 i (S AR%D , ZEER S
MU 22,420.59 J5 TG,

—. (HFHERNBRMNEERZA B FEAR
(=) il EE K ZBIT R E

HJ7: b S DR G B R A PR A )

LTis I TG ARG B IR A A
ZEATIA]: 2025 4E 08 H 07 H

(D) BHRFEEANE

1. X5 BN TR B0 A (R ¢ 9 B4R H A B e

(D FEAEFFE—%ZE 1.5 FIEE0:

ARUCRAT GRS R  RORAT R B ANETE 46,905,000 i

1




CEARD , I A 7 A IR I RS 8 R GORAT B IR RA I 30%. B RATHUE
A BRI EE & e (BURNRIAR “ P ERER <7 ) RIEEMN AT EE
A

oo a) I SRR AN B H 2 R AT HIAEUR AR IR I B AR A TR G R G IR S

B B JE S0 DR e TR0 RO IRt ) 45 At &R R 5 8UAR VR AT i 28 )
B R R WA ORAT A SRR T PR 2 J o (IR M 2% 2 IR T (R A
SR U AT L 1R

(2) JREFEE 5625 2.1 FABH0N:

IT W ), 07 A4 75 s FR 7 AR UCRAT IR, B A
il 46,905,000 i (FAKD , INWFI AL 224,205,900.00 76, HZ& NG
IR 2 7 SEBRRAT B Fe LLRAT AN o

2. BRAHIUCE 1 KZuEm LB FEms, RE MmN ERE. AR
SARMWA = A, EHARDAL E . AR UCRL EF T, AT 2 AR
RELIE

3. AP E G VEE RRN BT I A % 5 oL, 7R 2
R & 2058 WAERGR G 5 EE R RN A2 an R & R R ek, AR E
JR & R RR R 1E 22 H BB Fr e &k

N

Z BVEEEISWUEERERL

AWT 2025 4F 08 H 07 HAJFSELEsEE M s R =R BT, &
WA KATY S A w5 T SRR E (O SR AR AL R B A AT 5 [ 2 AR 78 8300
AR I, Ay —BUF R HE0, R ZE IR A F B LmE S

RE NIV H DL

BELSENR
NFET 2025 08 H 07 HAHE-LEEFESENUREW, AR KATE
KA ) 5 T4 AR B (I St A2 R AR D A TR 2 D 78 IR0 O AH e S5 0,



SRR HE — SR AR BATHRH B, FIEIEEAHRBE.

. &3

v HUEEFESH ARSI

NI RN EEAE R I ES NS

FBUREFSMLE EE SR TSR

CIEER PR BB A IR A7) 5T M T2 A P IR A 7] 56 T 1]
R S 0 RRAT IR BB S A A2 BB I A 5 (R AR FE L)

f—

\S}

(98]
’

B
/

RrEAE!

LB RIBARE R A IR A F EH S

—O=HE)NH/)\H



